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1| T2 |13 |T4|T1T5 ]| 716|717 | T8 ]| T9 |L-1|L1-2]|L1-3 | L1-4 | L1-5 | L1-6 | L1-7 | L1-8 | L1-9
0.020 0.020 0.017 0.016 0.016 0.010 0.008 0.013 0.012 0.028 0.028 0.030 0.034 0.036 0.035 0.035 0.030 0.030
0.065 0.065 0.065 0.032 0.065 0.065 0.065 0.065 0.065 0.032 0.032 0.032 0.032 0.032 0.000 0.000 0.000 0.000
0.000 | 0.000 | 0.000 0.000 0.000 | 0.000 | 0.000 0.000 0.000 | 0.010 | 0.000 0.000 0.000 | 0.021 | 0.010 0.010 0.000 | 0.000
12-1 | L2-2 | 2-3 | L2-4 | L2-5 | L2-6 | L2-7 | L2-8 | L2-9 | L3-1 | L3-2 | L3-3 | L3-4 | L3-5 | L3-6 | L3-7 | L3-8 | L3-9
0.028 0.029 0.028 0.032 0.037 0.034 0.030 0.032 0.032 0.030 0.033 0.028 0.031 0.037 0.034 0.034 0.037 0.036
0.016 | 0.016 | 0.000 | 0.000 0.016 0.000 | 0.000 | 0.000 0.000 0.016 | 0.000 | 0.000 0.000 0.194 | 0.000 | 0.016 0.000 0.016
0.021 0.010 0.000 0.000 0.052 0.021 0.021 0.010 0.010 0.052 0.021 0.103 0.021 0.258 0.072 0.082 0.093 0.103
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